
 

Task 1 – Fully simplify each of the following. 

1) 𝑎 × 𝑎 = 𝒂𝟐 

2) 𝑥 × 𝑥 × 𝑥 × 𝑥 = 𝒙𝟒 

3) 2 × 𝑎 × 𝑏 = 𝟐𝒂𝒃 

4) 3 × 𝑓 × 𝑔 = 𝟑𝒇𝒈 

5) 𝑥 × 𝑦 × 𝑧 = 𝒙𝒚𝒛 

6) 𝑢 × 𝑣 × 14 = 𝟏𝟒𝒖𝒗 

7) 6 × 3 × ℎ × ℎ = 𝟏𝟖𝒉𝟐 

8) 4 × 𝑗 × 𝑗 × 𝑗 = 𝟒𝒋𝟑 

9) ଵ଴

ହ
= 𝟐𝒑 

10) ଶ଴ௗ
ௗ

= 𝟐𝟎 

11) 9𝑎 × 9𝑎 = 𝟖𝟏𝒂𝟐 

12) ଵ଴௚ା
ଵଵ

= 𝟐𝒈 

13) 7𝑖 × 3 = 𝟐𝟏𝒊 

14) 3 × 𝑐 × 7 = 𝟐𝟏𝒄 

15) 11𝑤 × 11𝑤 = 𝟏𝟐𝟏𝒘𝟐 

16) ଵ଴௕ି଼௕
ଷ

=
𝟐𝒃

𝟑
 

17) ଶ௣
మାଷ௣మ

௣
= 𝟓𝒑 

18) ௢×௢×௢×௢
ସ

=
𝒐𝟒

𝟒
 

19) 2𝑥ଶ × 8𝑦ଶ × 4𝑧ଶ = 𝟔𝟒𝒙𝟐𝒚𝟐𝒛𝟐 

20) ଼௥×ଵଶ
మ

௥
= 𝟗𝟔𝒓𝟐 

 

 

 

Task 2 – Fully simplify each of the following. 

21) 𝑝 + 𝑝 + 𝑝 = 𝟑𝒑 

22) 2𝑎 + 4𝑎 = 𝟔𝒂 

23) 4𝑥 + 5𝑥 − 7𝑥 = 𝟐𝒙 

24) 10𝑏 − 6𝑏 = 𝟒𝒃 

25) 𝑘 + 𝑘 − 3 = 𝟐𝒌 − 𝟑 

26) 𝑚 +𝑚+ 𝑛 + 𝑛 = 𝟐𝒎+ 𝟐𝒏 

27) 𝑞 + 𝑞 + 𝑞 − 𝑞 = 𝟐𝒒 

28) 𝑦 + 𝑦 + 𝑦 + 𝑦 = 𝟒𝒚 

29) 2𝑎 + 3𝑏 + 7𝑎 + 10𝑏 = 𝟗𝒂 + 𝟏𝟑𝒃 

30) 8𝑚 + 6𝑛 + 2𝑚 + 3𝑛 = 𝟏𝟎𝒎+ 𝟗𝒏 

31) 8𝑔 + 2ℎ − 6𝑔 + 4ℎ = 𝟐𝒈 + 𝟔𝒉 

32) 10𝑑 + 5𝑒 − 8𝑑 + 9𝑒 = 𝟐𝒅 + 𝟏𝟒𝒆 

33) 2𝑠 − 4𝑡 − 8𝑠 − 12𝑡 = −𝟔𝒔 − 𝟏𝟔𝒕 

34) 𝑖ଶ + 𝑖ଶ + 𝑖ଶ = 𝟑𝒊𝟐 

35) 2𝑘ଷ + 3𝑘ଷ = 𝟓𝒌𝟑 

36) 4𝑎𝑏 + 5𝑎𝑏 − 10𝑎𝑏 = −𝒂𝒃 

37) 3𝑥ଶ + 4𝑥 − 5𝑥ଶ + 7𝑥 = −𝟐𝒙𝟐 + 𝟏𝟏𝒙 

38) 7𝑥𝑦 + 3𝑥𝑦 − 4𝑥𝑦 = 𝟔𝒙𝒚 

39) ௫ା௫ା௫ା௫
ସ

= 𝒙 

40) 4𝑒ଶ𝑓ଶ + 10𝑒𝑓 − 3𝑒ଶ𝑓ଶ = 𝒆𝟐𝒇𝟐 + 𝟏𝟎𝒆𝒇 
 

www.genmathsresources.com                                                                              © GenMaths Resources 2025 


